ELEV/\TIONS

STAN

DARD

ASSEMBLY INSTRUCTIONS

Twin and Twin XL

IMPORTANT NOTE

Do not use a power tool to assemble this product as it could
damage the thread of the hardware and affect the solidity/durability
of the product.

QUEEN, KING, FULL, CAL KING

NOTE IMPORTANTE

Ne pas utiliser d' outil électrique pour assembler ce produit

car cela pourra endommager le filet des quincailleries et par le fait
méme affecter la solidité/durabilité du produit.



Contemporar Platfor Frame

A Head Rail*1pcs

B Foot Head Rail*1pcs

C‘ 0 O u] ) )
[ 1 E—— 5
n o o o 0 0

—_—

C Side Rails*2pcs

D Center Support Rail*1pcs

E Support Slats*10pcs

F Support Slats with holes*2pcs

0

G M5*1pcs H M4*1pcs
Qe -

| Bolts M8*35mm
T/TX :8pcs  F/Q/K/CK:12pcs

J Bolts M6*25mm 4pcs

K Wrench*1pcs

NOTE:The difference between the head rail (A) and foot rail (B) is the long holes located in the outside of the

vertical legs




Assembly

Step 1

Unfold the metal frame

Step 2

Twin/Twin XL:
Connect A Head Rail to C Side Rails,then Connect B Foot Rail to C Side Rails,Use M8*35 screws.

Full/Queen/King/Cal king:
First Connect A Head Rail to C Side Rails,then Connect B Foot Rail to C Side Rails,Second
Connect the D Center Support Rails to A Head Rail and B Foot Rail,Use M8%*35 screws.

Step 3

Put the F Support Slats on the C Side Rails,then use M6*25 screws.
NOTE: When picking up the F Support Slats,should with both hands to avoid damaging on each
end.

Step 4

Put the E Support Slats on the C Side Rails,double sided PVC tape is placed at intervals.

Step 5

Place the mattress,now the product is ready to use.



